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Zadatak 3. Ne rabeći računalo izračunaj površinu trokuta �ABC ako je:

1) b =
√

6 , c =
√

3(1 +
√

3) , α = 45◦ ;

2) a = 1 +
√

3 , β = 45◦ , γ = 60◦ ;

3) b = 2 , c =
√

3 − 1 , β = 135◦ ;

4) a = 1 +
√

3 , b =
√

6 , c =
√

3 − 1 .

Rješenje. 1) b =
√

6

c =
√

3(1 +
√

3)
α = 45◦

P =?

P =
b · c · sin α

2
=

√
6 · √3(1 +

√
3) ·

√
2

2
2

=
√

36(1 +
√

3)
4

=
3
2
(1 +

√
3)

2) a = 1 +
√

3

β = 45◦

γ = 60◦

P =?

α = 180◦ − β − γ = 75◦

P =
a2 sin β sin γ

2 sin α
sin 75◦ = sin(45◦ + 30◦) = sin 45◦ cos 30◦ + cos 45◦ sin 30◦

=
√

2
2

·
√

3
2

+
√

2
2

· 1
2

=
√

2(
√

3 + 1)
4

P =
(1 +

√
3)2 ·

√
2

2
·
√

3
2√

2(
√

3 + 1)
4

=
(1 +

√
3)
√

3
2

.
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3) b = 2

c =
√

3 − 1

β = 135◦

P =?
b

sin β
=

c
sin γ

sin γ =
c sin β

b
=

(
√

3−1) sin 135◦

2
=

(
√

3−1)
√

2
2

2
=

√
6−√

2
4

=
√

3
2

·
√

2
2

−1
2
·
√

2
2

= sin 60◦ cos 45◦− cos 60◦ sin 45◦ = sin(60◦−45◦) = sin 15◦

γ = 15◦

α = 180◦ − β − γ = 180◦ − 135◦ − 15◦ = 30◦

P =
b2 sin α sin γ

2 sin β
=

4 · 1
2
·
√

6 −√
2

4

2 ·
√

2
2

=
1
2
(
√

3 − 1).

4) a = 1 +
√

3

b =
√

6

c =
√

3 − 1

P =?

s =
a + b + c

2
=

1 +
√

3 +
√

6 +
√

3 − 1
2

=
2
√

3 +
√

6
2

=
√

3 +
√

6
2

P =
√

s(s − a)(s − b)(s − c)

=

√(√
3 +

√
6

2

)(√
3 +

√
6

2
− 1 −

√
3
)(√

3 +
√

6
2

−
√

6
)(√

3 +
√

6
2

−
√

3 + 1
)

=

√(√
3 +

√
6

2

)(√6
2

− 1
)(√

3 −
√

6
2

)(√6
2

+ 1
)

=

√(√
3 +

√
6

2

)(√
3 −

√
6

2

)(√6
2

− 1
)(√6

2
+ 1
)

=

√(
3 − 3

2

)(3
2
− 1
)

=

√
3
2
· 1

2
=

√
3

2
.
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